H & 0l & AHS B Ml A

SN EHS
I dAS MEZH(LetssHyY/Lery)
ol daNEEs EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
gXs 1,495,294 1,414,771 80,523
HAS ALBH(LSSHT/LEEEY) 1,160,621 997,800 162,821
IS 569, 140 515,940 53,200
OlgtE S A2 260,540 207,340 53,200
301 EetE NS 260,540 207,340 53,200
o7 8% -0 - H¥Es243 237,740 184,540 53,200
oolg+¢ 231,040
-JlE2eg 400,000 x38E « 12 182,400
-0 400, 0002 *38H <23 30,400
2|oF¥A g 20,0002 x38E »22| « 12 18,240
Oerded=s 50,0002 +134&H 6,700
4 JIEt2 8= 22,800 22,800 0
ool g &SI 50,0002 x38H 122 22,800
Sl PAL 5,000 5,000 0
301 EtE NS 5,000 5,000
11 dALEEIXIZE S 5,000 5,000
Ous - 29|, AL B4 2o
5,000,000& 5,000
342 N9FEE FUEHMA(EXS) 300,000 300,000 0
401 Al HIZ S 0HYI 300,000 300,000 0
01 AlZ2H| 300,000 300,000
OSH0tE =2 ZHISA
30,000,000& 30,000
O840te =2 JtEdY EXISAt
30,000,000& 30,000
Ostglts 242 0IESAt
30,000,000 30,000
OZ0HNIOtE eH=d & Bi+2 JBISA
30,000,000 30,000
Oli=0l2 s2 & o2 JUISA
30,000,000& 30,000
O8xlts o2 & == ZHISAH
30,000,000 30,000
OtaIOtE 2 THEEHSAL
30,000,000 30,000
OZSHE SHISA 30,000,000& 30,000
OODta Bl =2t2 ZJHIS A
30,000,000& 30,000
OFHOHI A& € =2 FHISA
30,000,000& 30,000
SR 3,600 3,600 0
204 Xt AH 3,600 3,600
02 SLR3H 3,600 3,600
ONFdgs2a 100,0002x3Z » 12 3,600
SN X SEAE 2l 591,481 481,860 109,621




ERARER=P\=

BI: UXS AL (LUDIHE/AUH)

ol FAF R SSAIE 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EAr2e] 114,039 83,275 30,764

101 @124H| 29,688 25,213 4,475
M ORNZZE2NSE S 29,688 25,213 4,475
OFArztel 29,688
k== 78,8803 x 1 *247& 19,484
-Fafdadfsd 78,880 x 1 *67 5,285
- 288 24,768,320 *10. 3% 2,552
-ElX= 78,8803 x 1 »30 2,367
201 et23| 54,351 58,062 A3, 711
01 AtR2telHl 16,864 16,575 289
Odgt+==H| 16,864
-RoIFHI A= (MY =XAH)
185,000« 12& 2,220
~SOIHYIEAR(DRUAETA)
160,000& « 12& 1,920
-gJ| gxz 40,0002 *3J4* 122 1,440
“HA HEA IO g
20,0003 x4+ 122 960
iRl HAY R
38,5003 20122 924
-UAEE DH=HUIIAAY S
35,0003+ 122 420
“HA S| B AR 42
200,000 * 128 2,400
EAL AYAIE EY ADNY £
190,000& « 12& 2,280
-HAL RIS &I 2] -l SR
Saat=4 150,000 122 1,800
“L-EE CCTV KA 2= 2,500,000& 2,500
02 s3=gHl 37,487 41,487 24,000
@Jul=d:] 2,000 *10L+0 1,800
O=32=  HAl 5,100
-SEAF X XHe(20H) H28=
200,000 *23] 400
“HIE 2k 4012
15,0003 *60E *2H 1,800
-2EXY 282 900,000 «3CH 2,700
-0IEXE 28& 200,000 *1CH 200
O Et] 19,044
-2 1,800& »250L+20H * 12& 10,800
-&IIAl 1743 «500KWH+1CH = 12 1,044
-==&H| 200,000 30+ 12 7,200
OAIEEHIRX 11,543
—SEA 3,000/ %1,602.99m" 4,809
SEA Rl Fa 4,200 »800m* 3,432
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ERARER=P\=
HE: QNS AR (LBIBDHT/LHHE)
Rl AP SEAIE 2Ll (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-STAL HIE Ha 3,000,000& 3,000
-ul= UEEEA 3,0002/%100.64m* 302
401 AlZHIZ S OHYI 30,000 30,000
01 AlZ2H| 30,000 30,000
OAIZH| 30,000
-Uzlos e £X 20,000,000& 20,000
AL =Y =R 2 D=REEYA 2
& MY 5,000,000 +27H 2= 10,000
SSAE 2L 477,442 398,585 78,857
101 @12A4H| 280,792 267,735 13,067
04 JIZtN2 2N S 2+ 280,792 267,735 13,057
OMESEAIE 22l 29,688
=] 78,8803 x1H 247 19,484
-RaRgdIfsE 78,8802 18 +67 5,285
A 288 24,768,320& %10. 3% 2,552
-EX= 78,8803 x1& »30! 2,367
ogaxtg=2d(&d3l) 59,110
SIE= 157,060 %124 %2472 38,794
235294y
157,060 x 12 +67 10,524
A 28& 49,316,8402+10. 3% 5,080
-Ex=3 157,003 x 1230 4,712
OE=FRURXIHE 2l 36,615
Sl 78,8802 124x2472 19,484
-228Y 2249
78,880 x 1 »67 5,285
-0 282 24,768,320 *10.3% 2,552
-EA= 78,8803 18 %30 2,367
-EIAZ(0IXZE) 76,9603 302 3 6,927
OgXiiglelZ el 41,232
== 78,8803 x1&H #2474 19,484
-Fafdadfsd 78,880 x 1 »67& 5,285
AU 282 24,768,320 *10. 3% 2,552
SRS 78,8803 x 1 »30! 2,367
-EAZ(0IXZE) 76,9602 x30 2 x5 11,544
Ogilazsag 2l 42,668
-JlZs 78,8802 x2H*184L 29,028
-FaRdIfsE 78,8803 x2& x342 5,364
A 28 34,391,6802 %10.3% 3,543
-EA= 78,8802 x2& *30 4,733
OgXtlel2 M=&Y
167,060 x32*x32 43 5,655




2A:

X XH -
o=

JAE AEZH(LESSHE /L)
SRl AL & SSAIE 22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEAIMEsd 2|
157, 06024+ 1024 %102 #43] 62,824
OSMMENEAIZS SHEY|
3,000,000 3,000
201 2= 24,250 36,850 A12,600
01 At22t2l] 15,250 8,250 7,000
Oget=ZH| 15,250
-SSHEA(THA) A2F 7Y
6,000,000& 6,000
“SNHESE & A2 22F 7Y
5,000,000 5,000
-t2J1 & SSAE HAIE =7 s 7Y
15,0002 *1507| 2,250
-2 =J|1201 wM ¥ =X
20,0002 *100H 2,000
02 S3=gl 9,000 28,600 19,600
Os&sk= € MA 7,000
-S4 Hatx B #AZ
15,0003 *100= 4 6,000
-EAEN B2AXEH S 1,000,000& 1,000
OAlZ &l |X 2,000
-HS3Y SXA ECIR0 L M=D] Z|
500,000 *42] 2,000
206 M=l 2,000 4,000 A2,000
01 MHZHI 2,000 4,000 22,000
OgXiblel2 sX2el(dgay 8)
500,000& *42] 2,000
401 AlEHIZ 201 167,650 90,000 77,650
01 Al&H| 167,650 90,000 77,650
OSSAE= RAl & dE=HIY|
70,000,000 70,000
OEXNNESE AL 30,000,000& 30,000
OE==UXNXIHE Al222
20,000,000 20,000
OIS 2ots E=3A
32,650,000& 32,650
O=AIZd FHl(5o2)
1,000,0002 %52 5,000
Ot AIE S EHl 5,000,000 5,000
O1A= & Tloi= MA 5,000,000& 5,000
405 KHaHF S| 2,750 2,750
01 At =S F=H 2,750 2,750
OXdEza 22l o=l 7
550,000 *5CH 2,750
HY2AHHI(EXS) (OIEHIIE) 334,673 416,971 A\82,298
elARHH|(LRIS) 198,177 188,935 9,242




SN EHS
. AZ2IZHI(SXS)(OIEH/IIE
Eel: elA2HHI(EXIE) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
30/st 198,177 188,935 9,242
101 @124H| 191,142 182,136 9,006
03 SR (RINHA) 222+ 191,142 182,136 9,006
O=tdilsH 191,142
-Jl2s 1,570,020 x3&* 12 56,521
g 2,189,900 x200%*3H 13,140
-g32=g 2,189, 900 x50%+2 2] *3H 6.570
-HI= Ete| 2,189,900 x250%+3H 16,425
-EE=JHl 2,189,9003 *120%+3H 7,884
Srgfsd 90,0008 *x3& * 12 3,240
-Hg¥el=g 140,000 x3& * 122 5,040
-tEsg 2,861
B 40,0002 x32* 12 1,440
JIERIE 20,0002 x4 & x148%~ 122 1,421
~HoZAl| 60,0002 +32* 122 5,760
o5 EES 10,0002 4324+ 122 3,960
-DEFEY| 140,00021+32+ 122 5,040
omDzsd
14,2602 *150%+38 #40A| 2+ 122 30,802
S EEERA
108,080  150%+3H 3 » 122 17,509
RS IEYLY
108,080 x3& »22 7,134
-Jl2sely 185,107,000& 5% 9,25
4 HASFEESS 7,035 6,799 236
M SRA(RIAHY) 220N BEERE=3 S 7,035 6,799 236
OttNEEE S 185,107,000 *3. 8% 7,035
Jl2gel(gXxg) 136,496 228,036 A\91,540
JlEZeI(gxg) 136,496 228,036 A\91,540
201 =3 82,616 82,436 180
01 At2t2lt] 52,016 51,836 180
Oggt=3ZH| 27,000,000 27,000
O=28+¢ 7,140
-2 & 60,0002 x12*119& 7,140
Oul=s| 1,000
-oIEA 100,000 4 400
2205 50,0002 x3E #43] 600
OF=F{:] 16,876
28R sd 15,876,000 15,876
SIESANE L HAER
1,000,000 1,000
02 S5=2g4l 30,600 30,600 0
O8&82= € HA 30,600,000& 30,600
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2A:

=PNI=)

Zo: YHSABHI(LXS) OIEHIIE
el J|=FHI(EXIS) (crol: M el)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
202 0idl 38,880 48,600 A9, 720
01 =WHO4bI 38,880 48,600 A9,720
O=LH04HI 120,000& *27H+12& 38,880
203 PYRF=&IH| 12,600 12,600
01 J 122G AR FA| 6,600 6,600
OJ22I U248 550,000& =123 6,600
02 BRI A R Z=LIH| 1,200 1,200 0
O&ERINHRFEH| 40,0003 *30H 1,200
M PA2IHRFAL 4,800 4,800 0
ORN2IYRFL| 400,000& 128 4,800
204 AR AY| 2,400 2,400
01 MM HRHAY| 2,400 2,400
os% 150,000& *12& 1,800
OFs% 50,0003 *12& 600




